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21. What happens to the total surplus in a market when the government imposes a tax?
a. Total surplus increases by the amount of the tax.
b. Total surplus increases but by less than the amount of the tax.
c. Total surplus decreases.

d. Total surplus is unaffected by the tax.

22. When atax is levied on buyers, the
a. supply curves shifts upward by the amount of the tax.

b. tax creates a wedge between the price buyers pay and the price sellers receive.
c. tax has no effect on the well-being of sellers.

d. buyers bear the entire burden of the tax.

23. The decreasc in total surplus that results from a market distortion, such as a tax, is called
a. wedge loss.
b. revenue loss.
c. deadweight loss.

d. consumer Slll'plllS loss.

24. Total revenue equals
a. price x quantity.
b. price/quantity.
c. (price x quantity) — total cost.

d. output — input.

25. Kerem makes candles. If he charges $25 for each candle, his total revenue will be
a. $1,250 if he sells 100 candles.
b. $625 if he sclls 25 candles.
c. $25 regardless of how many candles he sells.
d. $2,500 if he sells 5 candles.

26. The Bow Wow company produced and sold 400 dog beds. The average cost of
production per dog bed was $40. Each dog bed can be sold for a price of $75.
Bow Wow's total costs are

a. $17,500.
b. $16,000.
c. $30,000.




